WTUA-FM WTUA 106.1 FM P. O. Box 1240 St. Stephen, SC 29479

Client:

**REASON TO BELIEVE** 

Order #: Description:

7239-00004 Reason To Believe

Date Entered:

1/17/2020

P.O.#:

Salesperson:

House, .

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Req'd

Blueprint Strategy LLC P.O. Box 9521 Columbia, SC 29290

On-Air	Sche	dule

	Start Date	End Date	Station	Scheduled '	Time/Event	Repeated	Lamath	Otro	D-4-	TD + 1			***				
- 2						Repeated	Length	Qty	Rate	<u>Total</u>	<u>M</u>	<u>Tu</u>	<u>.W</u>	<u>Th</u>	F	<u>Sa</u>	<u>Su</u>
1	1/12/2020	1/18/2020	WTUA-FM	06:00:00a	to 10:00:00a	Weekly	1:00	6	35.00	210.00	0	0	0	0	0	6	0
2	1/12/2020	1/18/2020	WTUA-FM	10:00:00a	to 03:00:00p	Weekly	1:00	6	35.00	210.00	0	0	0	0	0	6	0
3	1/12/2020	1/18/2020	WTUA-FM	03:00:00p	to 07:00:00p	Weekly	1:00	6	35.00	210.00	0	0	0	0	0	6	0
4	1/19/2020	1/25/2020	WTUA-FM	06:00:00a	to 10:00:00a	Weekly	1:00	38	20.00	760.00	6	6	5	5	5	5	6
5	1/19/2020	1/25/2020	WTUA-FM	10:00:00a	to 03:00:00p	Weekly	1:00	38	20.00	760.00	6	6	5	5	5	5	6
6	1/19/2020	1/25/2020	WTUA-FM	03:00:00p	to 07:00:00p	Weekly	1:00	38	20.00	760.00	6	6	5	5	5	5	6
7	1/26/2020	1/31/2020	WTUA-FM	06:00:00a t	to 10:00:00a	Weekly	1:00	26	20.00	520.00	5	5	5	6	0	0	5
8	1/26/2020	1/31/2020	WTUA-FM	10:00:00a t	to 03:00:00p	Weekly	1:00	26	20.00	520.00	5	5	5	6	0	0	5
9	1/26/2020	1/31/2020	WTUA-FM	03:00:00p t	o 07:00:00p	Weekly	1:00	26	20.00	520.00	5	5	5	6	0	n	5

Order Start Date: 1/12/2020

Order End Date: 1/31/2020

Spots: 210

Total Charges:

\$4,470.00

Combined Discounts:

\$670.50

**Total Net:** 

\$3,799.50

Projected Calendar Month/End-Of-Schedule Billing Totals for REASON TO BELIEVE / 7239-00004:

January

2020

Spot Count 210 Gross Billing \$4,470.00 Combined Disc. \$670.50

Net Billing \$3,799.50

Confirmed & Accepted for WTUA-FM By:

Accepted for Blueprint Strategy LLC By:

# Charleston - WTUA 105.9 FM

## WEEK 3: January 12-18

	Total	Kate	PIVI UNIVE 3-/P	וטומו	Total	Rate Tod-Sp	MIDDAY 102-25	Total	ANI DVIAC 0-TOG	AM DBIVE C 10-	
	\$	\$ 35.0			\$ 30.00 \$	D 25	•	\$ 35.00	2	nuc	-
	-	P	10	4		9 0		٦	9	4	_
	\$ -	35.00 \$ 40.00 \$ 40.00 \$40.00 \$	0	•				\$ 40.00	0	Mon	) }
	\$ -	\$ 40.00	0	\$ -	40.00 \$ 40.00 \$40.00 \$ 40.00 \$ 40.00	0	\$ -	40.00 \$ 40.00 \$40.00 \$ 40.00 \$ 40.00	0	Tues	
	\$ -	\$40.00	0	\$ -	\$40.00	0	\$ -	\$40.00	0	Wed	
١.,	\$	\$		\$	\$	1	Ş	S			ĺ
SPUIS	•	40.00 \$ 40.00	0		40.00	0		40.00	0	Thurs	
	S	\$		s	\$		\$	S			
18	•	40.00	0		40.00	0	1	40.00	0	Ŧ.	
COST	######	\$35.00	6	######	\$35.00	6	######	\$35.00	6	Sat	
Ş	S			\$			\$				
630.00	210.00		6	210.00		6	210.00		6	Totals	

## WEEK 2: January 19-25

	IOLAI	Rate	PM DRIVE 3-7p	Total	Rate	Par Tua-3p	TOTAL	Rate	AIVI DRIVE 6-10a	
	\$ 120.00	\$ 20.00	6	\$ 120.00	\$ 20.00	6	\$ 120.00	\$ 20.00	6	Sun
	> 120.00   \$ 120.00   \$120.00	\$ 20.00	6	\$ 120.00 \$ 120.00 \$120.00	20.00 \$ 20.00 \$ 20.00 \$20.00 \$ 20.00 \$ 20.00	6	\$ 120.00 \$ 120.00 \$120.00	\$ 20.00	6	Mon
		20.00 \$ 20.00 \$20.00 \$ 20.00 \$ 20.00	6	\$120.00	\$ 20.00	6	\$120.00	20.00 \$ 20.00 \$20.00 \$ 20.00 \$ 20.00	6	Tues
	######	\$20.00	5	######	\$20.00	(J)	######	\$20.00	<sub>5</sub>	Wed
SPUIS	###### \$ 100.00 \$ 100.00	\$ 20.00	5	###### \$ 100.00 \$ 100.00	\$ 20.00	5	###### \$ 100.00 \$ 100.00	\$ 20.00	5	Thurs
114	\$ 100.00	\$ 20.00	5	\$ 100.00	\$ 20.00	5	\$ 100.00	\$ 20.00	5	Fri
	######	\$20.00	5	######	\$20.00	5	######	\$20.00	5	Sat
COSI \$ 2,280.00	\$ 760.00		38	\$ 760.00		38	\$ 760.00		38	Totals

# WEEK 1: January 26-Febr 1

Iotal	1	Nate	Dato	AIVI URIVE 6-10a	ARA DON'T CAC	
\$ 100.00 \$		\$ 20.00	4	5		Sun
		\$ 20.00 \$		U		Mon
100.00 \$100.00		\$ 20.00   \$20.00		Uī		Tues
######		\$20.00		<u>U</u>		Wed
\$ 120.00	1	\$ 20.00		6		Thurs
\$ -	7 -0100	\$ 20.00		0		Fr.
. 5	710.00	\$20.00		0	900	Sat
\$ 520.00			0.7	36	Cipio	Totale

				4,470.00	\$ 4,4	210 COST	210	SPOTS
							2	STATION TOTALS
5 1,560.00	COST	78	SPOTS					STATION TOTAL
520.00	\$ -		\$ 120.00 \$	######	\$100.00	\$ 100.00	\$ 100.00   \$ 100.00   \$100.00	lotal
	\$20.00	_	20.00 \$ 20.00 \$ 20.00 \$ 20.00 \$ 20.00	\$20.00	\$ 20.00	\$ 20.00	\$ 20.00	Kate
2	0	0	6	U)	O.	5	·	FINI DVIAC 2-16
520.00	\$ - \$	1	###### \$ 120.00 \$	######	\$100.00	\$ 100.00	\$ 100.00 \$ 100.00 \$100.00	DNA DBIVE 3 75
	\$20.00	\$ 20.00	\$ 20.00 \$	\$20.00	\$ 20.00	\$ 20.00 \$ 20.00 \$20.00	\$ 20.00	Kate
26	0	0	6	5	5	5	5	MIDUAY 10a-3p

#### AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

Station and Location:	Date:
I, Pania Jamism of Bluep do hereby request station time concerning the following issue:	print Strategy
Candidates of Color Participation in Del	oates

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks

This broadcast time will be used by: Reason to Believe PAC

## THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT "COMMUNICATES A POLITICAL MATTER OF NATIONAL IMPORTANCE." FOR ALL OTHER ISSUE ADS, PLEASE GO TO PAGE 3.

Programming that "communicates a political matter of national importance" includes (1) references to legally qualified candidates (presidential, vice presidential or congressional); (2) any election to Federal office (e.g., any references to "our next senator", "our person in Washington" or "the President"); and (3) a national legislative issue of public importance (e.g., Affordable Care Act, revising the IRS tax code, federal gun control or any federal legislation).

Does the programming (in whole or in	part) communicate "a message
relating to any political matter of	of national importance?"
☑ <b>Yes</b>	□ <b>No</b>

For programming that "communicates a message relating to any political matter of national importance," list the name of the legally qualified candidate(s) the programming refers to, the offices being sought, the date(s) of the election(s) and/or the issue to which the communication refers (if applicable):

### Deval Patrick + Andrew Yang

I represent that the payment for the above described broadcast time has been furnished by (name and address):

Reason to Believe 1090 Vermont Ave NW Ste 750 Washington, DC 20065

and you are authorized to announce the time as paid for by such person or entity (hereinafter referred to as the "sponsor").

List the chief executive officers or members of the executive committee or the board of directors below (or attach separately):

Herlande Rosemond, Treasurer

For programming that "communicates a message relating to any political matter of national importance," attach Agreed Upon Schedule (Page 5)

### THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT DOES NOT "COMMUNICATE A POLITICAL MATTER OF NATIONAL IMPORTANCE"

I represent that the payment for the above described broadcast time has been fulby (name and address):	rnished
and you are authorized to announce the time as paid for by such person or entity (hereinafter referred to as the "sponsor").	,
List the chief executive officers or members of the executive committee or the bo directors below (or attach separately):	ard of

#### TO BE COMPLETED FOR ALL ISSUE ADVERTISEMENTS

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

The Sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, that may ensue from the broadcast of the above-requested advertisement(s). For the above-stated broadcast(s), the sponsor also agrees to prepare a script, transcript, or tape, which will be delivered to the station at least \_\_\_\_\_\_ before the time of the scheduled broadcasts.

1 1	TO BE S	SIGNED BY	ISSUE ADVER	TISER (SPC	ONSOR)	
1117	2020	do	The same	<u> </u>	903-	920-7097
Dat	P	9	Signature		Contact	Phone Number
	/ το	DESIGNED	BY STATION R	EPRESENTA	TIVE	
	Accepted	/ // //	Accepted	in Part		Rejected
	WIL	10/	Alexis (	amphel	V 6	M
	Signature		Printed N	lame /		Title

#### AGREED UPON SCHEDULE

For All Issue Advertisements That Communicate a Message Relating to Any Political Matter of National Importance

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks

Attach proposed schedule with charges (if available):

#### **AFTER AIRING OF BROADCASTS:**

Attach invoices or Schedule Run Summary to this Form showing:

- (1) actual air time and charges for each spot;
- (2) the date(s), exact time(s) and reason(s) for Make-Good(s), if any; and
- (3) the amount of rebates given (identify exact date, time, class of broadcast and dollar amount for each rebate), if any.

Note: Because the FCC requires that the political file contain the actual time the rate for spots "communicating a political matter of national importance" air, that information should be included in the file as soon as possible. If that information is only generated monthly, the file should include the name of a contact person who can provide the times that and rates for specific spots aired. The FCC's online political files include a folder for "Terms and Disclosures." NAB suggests that, for stations subject to the online public file rule, the names of contact person(s) be placed in that folder.